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. CHEMISTRY 11 REVIEW

[. What lcslgte_\percent composition of each?iemenr n L13PO4'? Show your work in the space provided.
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3. Calculate the number of grams ofs‘NazSO3 that would be required to mix 3.0 L of a 0.050 M solution.
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+. How many grams of H SO are contained in [00 mL of 6.0 M HZSOJ_ solution?
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5. A ca[cnum chlonde solution was prepared by dissloving 54.0 g of calcium chlonde m&gfﬁc}te It 1
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nt water
to make a final solution volume of 2.00 L. What is the molanty of this solution?
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6. How many moles of Ll,,CO3 are present in 250 mL of 0.250 M L12CO solution?
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7. How many H MTitregof 0.250 M NaOH solution are needed to provide 0.0200 mol of NaOH?
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8. Calculate the »oitﬂne ofa 0\’:1‘-00 M BaCI stock solution required to prepare 500 mL of a 0. 100 M
1 = MoV
/l BaCI2 solution. 0. 100 M ¥ 6.556 L
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| 9, ~What ts the empinical formula for a compound that contains 82.40% nitrogen and [7.60% hydrogen?
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0 ) After eanng, a compoﬁnd decomposed to produce 17.96 g of potassium, 7.35 g of sulfur and 14.70

gof oxygen. What s tgg empirical formula for the compound?
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2. Draw the structural formulae and namei&uﬂsomers ofC H 2‘
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—~ 13 [sethe tollowine balanced chemical equation to answer the questions below. Show your work and
answers in the space provided on the answer sheet

S o
|(')2 5 +4HF(O) > §|F4( 2 + 3 HZO(D)

[n the reaction, 6. .0 g of silicon dioxide reacts with 400 mL of a 0.50 M solution of h drog
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/3 a) What is the limiting reagent? (2)
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b) What is the amount ofe(cess(m (éaebs) of the other chemical? (1)
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c) Based on the In?utmo reagent, how mg?ﬁregrams of water would be EM'LS'(‘

/ produced? (2)
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‘. 1-1 A colourless liquid used in rocket engines, whose empirical formula is NO has a molecular mass of

M i 9200 What is its molecular formula?
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?3 The correct name for ;?w following compound is
CH3CHCH
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16. The demsesaemetof the following compound is
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L'7. The correct name for the following compound is ,€H,CH,CH,CH,CH,C H4
H- ¢ —¢)
4 \
OWUVB CHZCHZCH2CH2CH2CH3
=

y-
7

[ 18. The correct name for the following compound is

/ CHyCH,CH,CH,CH,CH CH
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19, A solution of iron ([I[) chloride is mixed with a solution of silver nitrate.
Write a balanced .. equation. (2)

'/& FeCl "*—4\3\\10 —>  Fe(Np); +3RgC)
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21.

Complete and batance the following equations:

a) BaCly + HySO, > BaO0y +d T\
b LC H Féz ~>8Coy +PR50

¢) @Ca+0, ---> 2Ca O

4 FHEC =i QHQ) 3 On

e) uzso4+3ac'12 > ALACH &+ BaSO,

) Zn +HCl ----> 'ZY\C\a + HQ

. The following data was collected when a 0.50 M solution of NaOH was titrated into 250.0 ml of an

HCl solution until the phenolphthalein just turned pink.

Final buret reading............... 258 ml ~ Q.| { =
[nitial buret reading............... 7.2 ml z ~——8-:—b e
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a) Write the balanced equation for the reaction? (1) Naok + HCL — Nall 4 Wy
b) What is the [HCI]? (3)
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. /Draw the structural formula for 2-propanol. ‘?
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Draw the structural formula for octangal. oM
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Draw the structural formula for 2‘2—dirr(:e_5hylpentane.
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Draw the structural formula for propeﬂ*c‘f‘}
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Draw the structural formula for l-chlorggropyne.
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Draw the structural formula for propyl eXonocale G
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Draw the structural formula for |-ethyi-2 4-dimethylbenzene. Q\ "5
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Draw the structural formula for butyl methanoate.
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